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1) A farmer wants to fence off two side by side identical rectangular pens for his cows.  Each pen is to contain 900 square feet.  The outer fence requires a heavy-duty material that costs $2.00 per foot.  The fence in the center is a lighter grade of fence and costs $1.00 per foot.  What are the dimensions of the pen that will minimize the cost of the fence?

2) A rectangular box with a square base and without a lid has to maintain a surface area of 1000 square feet.  What are the dimensions of the box if the volume is maximized?

